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Sec 1.5 — Dimensional Analysis
(Rate Conversions) Name:
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1. Astudent is reading a book at about 370 words per minute. Convert this rate to words per hour.
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2. Some female spiders have been measured spinning a web at 3 cm per second. Convert
this rate to meters per minute.
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4. A piece of data on the edge of a performance hard drive platter in a computer
moves at about 1319 inches per second. Convert this rate to miles per hour.
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5. Craig Kimbrell of the Atlanta Braves, can throw his fastball at 102 miles per hour. Convert this rate to feet per
second.
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(Challenge: It is exactly 60.5 feet from the pitcher’s mound to home plate. How ma seco ds would it take the
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6. A bathroom fauceﬁhat is fully open, usually releases water at about 95 m|II|I|ters per second. How many I|ters of
water are re\eased in an hour (i.e. convert the rate to liters per hour)?
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7. An average typing speed for a person in a high school computer/typing class is about 44 words per minute. At this
rate how many hours would it take to re-type a novel that is 45,000 words?
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8. (Challenge)Ariel ?mimd_t.h.a.t_h.er_gutdggr faucet was dripping. She later determined that it was dripping 10 drops
every minute. If 20 drops equals a 1 millilite), how many liters per year is the faucet leaking? -
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